Calculus AB
5-1
The Natural Logarithm:
Differentiation
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REMEMBER: The answer

Laws of Exponents Laws of Logarithms - to a logarithm is a power.
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When dividing
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When dividing, subtract powers.

subtract powers.
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REMEMBER: The answer
to a logarithm is a power.

Function Properties: f(x) = In(x)
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Sketch the graph of the function and state its domain. (pg331)
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Use the properties of logarithms to expand the logarithmic expression.
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Write the expression as a logarithm of a single quantity.
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Find the limit.  _ o486
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Note: from left.
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Use function transformations to visualize graph.

Derivative of the Natural Logarithm Function.
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Find the derivative of the function.

50) h(x)=In(2x + 1) 56) y=In 25
“x £aZx = Aax+3)
= _T-Zg I 3; nz :
N S -
% T 2 *®+3
L
=X T e
70) y:1n|cscx| xts_x - 2
- ¢seveotx X(x+D) =

Coex =~ Cobx

Assignment
Day 1

pg 331

7-17 odd
21-35 odd
39-75 odd

Find an equation of the tangent line to the graph of /" at the indicated point.
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Show that the function is a solution of the differential equation.
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Locate any relative extrema and inflection points.
92) y=x-Inx =——Demain (al®
o - = |= L ned
Bk cp omi-] ahfon
x= |
Ay N
— - .

o=
X2 no (aFleekion

I peints.

Assignment

Day 2
83 -95 odd




